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Year 1: Week 3, Day 1 
Pairs to 8 and 9 

Each day covers one maths topic.  It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders.

They come from our PowerPoint slides.

2. Tackle the questions on the Practice Sheet.

There might be a choice of either Mild (easier) or

Hot (harder)!

Check the answers.

3. Finding it tricky? That’s OK… have a go with a

grown-up at A Bit Stuck?

4. Have I mastered the topic? A few questions to

Check your understanding.

Fold the page to hide the answers!
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4 +      = 8

2 +      = 8

3 +      = 8

5 +      = 8

7 +      = 8

+
1 = 8
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How many more to make 8? �PLOG�

4 + 4 = 8 5 + 3 = 8
2 + 6 = 8 7 + 1 = 8
3 + 5 = 8 7 + 1 = 8

Birthday number bond candles �KRW�

2 + 7 = 9 5 + 4 = 9 7 + 2 = 9 
8 + 1 = 9 4 + 5 = 9 1 + 8 = 9
9 + 0 = 9 3 + 6 = 9 6 + 3 = 9
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Work in pairs

© Hamilton Trust

Learning outcomes:
� ,�FDQ�VSOLW���LQWR�WZR�JURXSV�DQG��QG�WKH�PDWFKLQJ�VXP�
� ,�DP�EHJLQQLQJ�WR�NQRZ�D�IHZ�SDLUV�WR���E\�KHDUW�

Things you will need:
� Six dinosaurs
� 7ZR�LVODQGV
� $GGLWLRQ�FDUGV

What to do:

� 6SUHDG�RXW�WKH�DGGLWLRQ�FDUGV�VR�WKDW�\RX�FDQ�VHH�WKHP�DOO�

� 6SOLW�WKH�VL[�GLQRVDXUV�EHWZHHQ�WKH�WZR�LVODQGV��1R�GLQRVDXUV�PXVW�EH�OHIW�LQ�WKH�VHD�

� +RZ�PDQ\�GLQRVDXUV�DUH�RQ�HDFK�LVODQG"�)LQG�WKH�PDWFKLQJ�VXP�
3XW�WKH�FDUG�WR�RQH�VLGH�VR�WKDW�\RX�NQRZ�\RX�KDYH�XVHG�WKDW�RQH�

� 1RZ�VSOLW�WKH�GLQRVDXUV�LQ�D�GLIIHUHQW�ZD\��)LQG�WKH�PDWFKLQJ�VXP�

� &DUU\�RQ�PRYLQJ�WKH�GLQRVDXUV�DQG��QGLQJ�WKH�PDWFKLQJ�VXPV�

� /RRN�DW�WKH�VXPV�ZKLFK�DUH�OHIW��6SOLW�WKH�GLQRVDXUV�WR�PDWFK�DV�PDQ\�GLIIHUHQW�VXPV
DV�\RX�FDQ�

S-t-r-e-t-c-h:
7DNH�LW�LQ�WXUQV�WR�FRYHU�RQH�RI�WKH�ILUVW�WZR�QXPEHUV�LQ�D�VXP��7KH�RWKHU�SHUVRQ�
ZRUNV�RXW�ZKDW�QXPEHU�LV�KLGGHQ��7KH\�FDQ�XVH�WKHLU�ILQJHUV�WR�KHOS�

4 + 2  =  6
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6 + 0  =  6          5 + 1  =  6 

4 + 2  =  6    3 + 3  =  6 

2 + 4  =  6    1 + 5  =  6 

0 + 6  =  6  

$�%LW�6WXFN"
'HDGO\�dinosaurs 
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Check your understanding 
Questions 

Find the missing numbers.  It could help to point at the first number and count on… 
5 +  = 9 

6 +   = 8 

+ 6 = 9

3 + = 8

+ 2 = 9

1 + = 8

9 frogs in the pond.  3 hop out. 
How many now?  

8 beetles on a leaf.  5 fly away. 
How many now?   

Fold here to hide answers 

Check your understanding 
Answers

Point at the first number and count on. 
5 +      4    = 9 

6 +    2     = 8 

   3   + 6 = 9

3 +    5   = 8

   7   + 2 = 9

1 +   7    = 8 

If children are consistently wrong, check that they are not including the start number in the count. 

9 frogs in the pond.  3 hop out. 
How many now? 6. This, and the following question, could be modelled using counters. 

8 beetles on a leaf.  5 fly away. 
How many now?  3 


